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OfR7E5ER!
[vas4r—Fatr2-]
e #E(kg) | HE(E) il |AREk| FHEM | TR | 28
SwHAE 49.0 250 12,259
FEE S 37.7 300 11,314
HVYTAE 38.3 300 11,490
FE= 31.6 120 3,792
B 69.9 300 20,970
A&t 59,825
[F->TlEE>hbETRR]
S #E(kg) | HEE) Hf |AAREkK)| FHEH | TR | &8
Sy HAE (BEH) 21.7 180 0.7 1,021 31 730
S HALE (FE&THY) 3.5 180 0.7 165 5 4,527
FEE S 5 300 1 275 5 1,221
2<x¥ (8 75 300 75 412 1 1,837
HYTAE 18.4 250 0.8 1,052 23 4,675
g4 v 15 150 350 15 1,545
— Yy 8 180~240| 0.7~0.8 703 18 3,112
HRF v 10| 150~200 311 10 1,379
A&t 4,289 108 19,025
XEE, FHREL @BEoEEME
[REDb SV ESET]
e #E(kg) | HE(E) il |AREk| FHEM | TR | 28
SwHAE 25 1,610
FEE S 13.9 3,300
HVYTAE 3,784
FE= 25 2,059
B 6.5 2,200
ES S 45 1,760
|t 14,714
[Zm&EER]
& #&E(ke) | HEME) il |AREk| FHEM | TR | 28
SwHAE 36 4,455
FEE S 53.8 8,070
HVYTAE 9.5 1,525
FE= 10 500
B 7.5 1,775
ES S 36 900
|t 17,225
[37¢ LE30@E ML (INES) ]
e #E(kg) | HE(E) il |AREk| FHEM | TR | 28
g4 v 24 150 3,600
— Yy 15 3333 5,000
=5 8,600
[ZEHFLVOAREILY ]
e #E(kg) | HE(E) il |AREk| FHEM | TR | 28
SwHAE 2 245 2453 466
FEE S 1 300 15 285
HY<AE 0
2L v 0
o 0
A&t 751
#Et|  120,140]
OfE#93)
mt HEke) | BEMRE) | =8
CxfiAE 137.235 24,047
EE& S 118.914 26,027
HYTAE 66.2 21,474
g4 av 31.6 74| 11,496
=Yy 106.9 33,057
¥ 81 2,660
HRF v 10 1,379
#Et|  120,140]




